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Instructions:-
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S.E. (Computer) Semester- IV (Revised Course 2007-08)
EXAMINATION Aug/Sept 2019

Computer Organization

1) Assume suitable data if necessary.

" 2) Answer any five questions; attempt at least one question from each

module.
3) Draw neat diagrams if required.

MODULE I

In RAID, what is the difference between parallel access and independent access.

With the help of a neat diagram, explain the construction of a magnetic disk.
A computer system employs RAM chips of 512 X 8 and ROM chips of
1024 x 8. The computer system needs 1 Kbytes (1024 X 8) of RAM and

2 Kbytes (2048 X 8) of ROM. Draw the interfacing diagram showing memory
connection and also show the memory address map for the system.

Explain different types of interrupts.

Explain the CD ROM features and functions. r

Discuss the features of various semiconductor memories w.r.t category, erasure,
write mechanism and volatility.

Describe the cell structure of DRAM and SRAM

What is memory interleaving and its advantages?

MODULE II

Express the following numbers in [EEE 32 bit floating point format:
a) 348 b) -5 )-1.5 d) ;—21

b) Discuss the DMA driven data transfer technique

¢) Multiply ('+l4) and (-6) using Booth’s Algorithm.

d) What are I/0 channels and processors? List their functions in detail.
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With a neat flowchart, explain the process of floating point multiplication.

Divide 145 by 18 using Restoring division algorithm.
With respect to Interrupts, explain Software Polling and Daisy Chaining.

Explain the I/O channel architecture?

s

MODULE III
Explain the various addressing modes in 8086.

Explain instruction pipelining. Draw a spaée time diagram for a 6 segment
pipeline showing the time it takes to process 8 tasks.

Write an 8086 program to find the average of N numbers.
Explain with neat diagram the internal architecture of 8086 processor.
Explain RISC pipelining in detail.

Write the one, two and three address instructions that could be used to compute
X=(A+B*C-D)/ (E-F*G+H). Use as minimum instructions as possible.

MODULE IV
Explain the features, advantages and disadvantages of following interconnection
structures:
i) Time shared bus
i) Switching network ¢

Explain parallel processor system and its,:lypes

With the help of a diagram, explain Hardwired Control unit
Describe superscalar instruction issue policies.

Explain:

i) Symmetric multiprocessors

it) Cache coherence protocols

Explain single address sequencing technique for micro instructions with the help
of a neat diagram.

Explain how a control unit interacts with other elements of CPU with the help of
neat block diagram

State and explain the limitations of parallelism
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